TR 22FERAO (EHRIBGH EHRE)

(E#52) (BE)N7TEERAEHS2
mig| Ao | BAT | E| omm £ wa g | an | BAT B ww | T

Retr | 841,966 52 0 iR | 830,966 52

SRIX | 148,748| 9.18671 | 9 0.18671 | 9| 0 SR | 148,005 9. 26745 | 9| 0.26745| 9

X | 123,532 7.62936 | 7 0.62936 | 8| 0 X | 119,830( 7.49869 | 7/0.49869 | 8

%X | 85444] 527704 | 5/ 0.27704 | 5| 0 HX | 84,8925.31235| 5/0.31235| 5

X | 133,622 8.25252 | 8 0.25252 | 8| O X | 131,030]8.19957 | 8[0.19957| 8

I | 154,779| 9.55918 | 9| 0.55018 | 10| O AR | 157,009]9.83091 | 9] 0.83091 10

J | 156,561| 9.66924 | 9| 0.66924 | 10| 1 JeX | 150, 885( 9. 44205 | 9] 0.44205 | 9
£FRX| 30,280[ 2.42504 | 2| 0.42504 | 2| A 1 %X | 39,135)2.44808 | 2| 0.44808| 3

841,966| st | 49| BEQLE | ; 830,966 #=xust | 49| PZVL | 5t
AR JN=
—52]16,191.65 3| 52 — 52 |15,980.12 3| 52
() A
(E#40) (E#41) (E#42) (E#43)
mug| Ao | BAT 1P| mm |Eww||mws| ao | BAT R ww |Elme| |mes| Ao | BATE| wm |E|me| mms| oan [BAT R s (T we
iR | 841,966 40|A 12| | | 841,966 ala 11| | |/ | 841,966 42| A 10| | e | 841,966 43| A9
IR | 148,748| 7.06670 | 7| 0.06670 | 7| A 2|| #RE | 148,748 7.24337 | 7 0.24337 | 7| A 2| | K | 148,748|7.42003| 7|0.42003| 7| A 2| | $REK | 148,748)7.59670 | 7/0.59670| 8| A 1
X | 123,532| 5.86874 | 5[ 0.86874 | 6| A 2| = | 123,532 6.01546 | 6| 0.01546 | 6| A 2| | B | 123,532(6.16218| 60.16218| 6| A 2| | =K | 123,532|6.30890 | 6[0.30890 | 6| A 2
BX | 85444] 405026 | 4 0.05026 | 4| A 1|| MX | 85444] 416074 | 4| 0.16074 | 4| A 1| | WX | 85444|4.26222| 4/0.26222| 4 A 1| | WX | 85444/4.36371 | 4[0.36371| 4| A1
R | 133,622( 6.34809 | 6 0.34800 | 6| A 2[| FK | 133,622| 6.50680 | 6| 0.50680 | 6| A 2| | FE | 133,622|6.66550 | 6|0.66550 | 7| A 1| | FEK | 133,622 6.82420 | 6/0.82420| 7| A 1
IR | 154,779] 7.35322 | 7| 0.35322 | 7| A 3| B | 154,779] 7.53705 | 7| 0.53705 | 8| A 2| | @K | 154,779|7.72088| 7|0.72088| 8| A 2| | WK | 154,779 7.90471 | 7(0.90471| 8| A 2
R | 156,561| 7.43788 | 7| 0.43788 | 8| A 1/ HE | 156,561| 7.62382 | 7| 0.62382 | 8| A 1| | dtE | 156,561|7.80977| 7/0.80977| 8| A 1| | HE | 156,561/7.99572| 7/0.99572| 8| A 1
£FX| 39,280] 1.86611 | 1) 0.86611 | 2| A 1|| %FK | 39,280 1.91276 | 1] 0.91276 | 2 A 1| |ZEK| 39,280|1.95041| 1/0.95041| 2| A 1| |ZEK | 39,280|2.00607| 2|0.00607| 2| A 1
841,966 st | 37| BEQLE| 841,966 gzt | 38| BEQLE |2 841,966| st | 38| TEVL |3 841, 966| st | 39| TEVL | 5

N= N= Nz N=
—4 0] 21,049.15 3| 40 —4 1 [ 20,535.76 3| 41 — 4 2| 20,046.81 4( 42 — 4 3 [19,580.60 4| 43

(A () () ()




(E#a4) (E#45) (E#46) (E#A47)
mimg| Ao | EATZ) mw | Elmm||mme| Ao | BAT P ww |Elww| mems| Ao | BAT R mm |Elme| mes| Ao | BAT (B sm |E|wm
SR | 841,966 44| A 8l| H | 841,966 45| A 7| | B | 841,966 16| A 6 | mw | 841, 966 47| a5
SR | 148,748|7.77337| 7(0.77337| 8| A 1|| K | 148,748 7.95004 | 7/0.95004 | 8| A 1| | X | 148,748 8.12670 | 8| 0.12670 | 8| A 1| | #HE | 148,748| 8.30337 | 8| 0.30337 | 8 A 1
X | 123,532( 6.45561 | 6]0.45561| 6| A 2|| e |123,532|6.60233 | 6[0.60233| 7| A 1| | K | 123,532 6.74905 | 6| 0.74905 | 7| A 1| | #K | 123,532| 6.89577 | 6 0.89577 | 7| A 1
HK | 85444{4.46519 | 4|0.46519| 5| Of| EK | 85444|4.56667 | 4/0.56667 5| O | BE | 85444 4.66815 | 4| 0.66815 | 5| 0 | K | 85444 4.76963 | 4| 0.76963 | 5 O
X | 133,622 6.98200 | 6/0.98290| 7| A 1|| FK | 133,622|7.14161| 7/0.14161| 7| A 1| | TWE | 133,622| 7.30031 | 7| 0.30031 | 7| A 1| | FER | 133,622| 7.45001 | 7| 0.45901 | 7| A 1
R | 154,779|8.08854 | 8/0.08854| 8| A 2|| EX | 154,779|8.27237| 80.27237| 8| A 2| | @K | 154,779| 8.45620 | 8| 0.45620 | 8| A 2| | KX | 154,779| 8.64003 | 8| 0.64003 | 9| A 1
JLE | 156,561 8.18167 | 80.18167| 8 A 1|| JLE | 156,561|8.36761 | 8[0.36761| 8| A 1| | LE | 156,561| 8.55356 | 8| 0.55356 | 9| O | 4L | 156,561 8.73951 | 8| 0.73951 | 9| O
£RE| 39,280|2.05272| 2|0.05272| 2 A 1| | %EE | 39,280{2.09937 | 2/0.09937| 2| A 1| |#EK| 39,280 2.14602 | 2| 0.14602 | 2| A 1| |ZEERK | 39,280 2.19268 | 2| 0.19268 | 2| A 1
841,966| st | 41| PEL | 841,966 st | 42| B20L | 841,966 st | 43| MEQLE 3 841,966 magat | 43| MEQLE| 5

JN= N= IN= IN=

—4 4] 19,135.59 3| 44 —4 5 |18,710.36 3| 45 —4 6| 18,303.61 3| 46 =47 | 1791417 4| 471

() (A) (A (A)
(E#48) (E#49) (E#50) (E#51)

mimg| Ao | EATE wmw | Elmm||mms| Ao | BAT | E| ww |Elww| (mms| Ao | BAT R mm |Eime| mes| Ao | BAT (B sm |E|ww
iR | 841,966 48| A 4|| Ha | 841,966 19| A 3| | s | 841,966 50 A 2| | | | 841,966 511 A 1
SREX | 148,748(8.48004 | 8[0.48004| 8| A 1|| #RK | 148,748|8.65671 | 80.65671| 9| O | 4RE | 148,748| 8.83337 | 8/ 0.83337 | 9| o | #RE | 148,748| 9.01004 | 9] 0.01004 | 9| O
X | 123,532(7.04249 | 7/0.04249| 7| A 1|| e | 123,532|7.18921| 7(0.18921| 7| A 1| | shE | 123,532( 7.33593 | 7| 0.33593 | 8| O | s | 123,532| 7.48264 | 7| 0.48264 | 8 0
MK | 85444{4.87111| 4|0.87111| 5|  Of| BE | 85444/4.97260| 4/0.97260| 5| O | BE | 85444/ 507408 | 5/ 0.07408 | 5| 0 | BE | 85444 517556 | 5| 0.17556 | 5 O
B | 133,622|7.61771| 7/0.61771| 8  O|| FK |133,622/7.77642| 7(0.77642| 8| 0| | FK | 133,622 7.93512 | 7/ 0.93512 | 8 0| | FE | 133,622| 8.09382 | 8| 0.09382 | 8 0
RIE | 154,7798.82386 | 8/0.82386| 9| A 1|| MK | 154,779|9.00769 | 9[0.00769 | 9| A 1| | @K | 154,779 9.19152 | 9| 0.19152 | 9| A 1| | BE | 154,779| 9.37535 | 9| 0.37535 | 9| A 1
JLE | 156,561)8.92545 | 8/0.92545| 9| 0| | HK | 156,561/9. 11140 9[0.11140| 9| 0 | 4K | 156,561 9.29735 | 9| 0.29735 | 9| 0| | 3E | 156,561| 9.48329 | 9| 0.48329 | 10| 1
£RE| 39,280|2.23933 | 2|0.23933| 2| A 1| | ZFE | 39,2802.28508 | 20.28598| 2| A 1| |EEK| 39,280 2.33264 | 2| 0.33264 | 2| A 1| |ZEERK | 39,280 2.37929 | 2| 0.37929 | 2| A 1
841,966 magat | 44| PEQL | 841,966| Zagat | 46| TE QL | 7 841,966 #agat | 47|FEQLE| 5t 841,966 st | 49| MEQLE|

JN= N= N= IN=

— 4 8] 17,540.96 4| 48 —49 (17,182.98 3| 49 —50/| 16,839.32 3| 50 —51 | 16,509.14 2| 51

(A (&) (A ()




